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TEE2EH
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INET 5 4
112 REBEERTR S1+I(ERE) 233 33 200
112 TR S1I(HRE) 193 67 126
112 TERETRIINHB2EFN S1+I(ERE) 12 10 2
112 REEER S4+I(ERE) 357 103 254
112 REEER INHBESIH S4+I(ERE) 11 4 7
112 HUITHRETE L EUER S4I(ERE) 92 10 82
112 TEAIEZERLEUERE S4+I(ERE) 77 71 6
112 EBITREA S4I(ERE) 360 267 93
112 FEREMREREE ST BUERE SE4+I(ERE) 78 72 6
112 M Tz % E4I(ERE) 366 325 41
112 RIBHEZ2EFTIER SE4+I(ERE) 205 161 44
112 BHIRER E4I(ERE) 378 363 15
112 BErIEA SE4+I(ERE) 364 323 41
112 M IE % S1I(HRE) 557 520 37
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INET 5 4
112 TETREEEZR S1+I(ERE) 311 226 85
112 M TR % BI(ER) 89 84 5
112 BRIER BII(ER) 4 4 0
112 BEFIEA BI(ER) 3 2 1
112 ML % SHICER) 12 12 0
112 TETREEER BI(ER) 1 1 0
112 REBEERTRALN BLI(ERE) 26 11 15
112 Tt REL ELI(ERE) 29 18 11
112 REEHERBRLT BRLEI(ERE) 36 12 24
112 B PR EIRIR L EUETE (IMBA) BEII(HME) 27 5 22
112 EBTRAEETER LN BRLEI(ERE) 20 16 4
112 B TREAELI BEII(HME) 68 57 11
112 M TR R R 3E BRLEI(ERE) 81 75 6
112 RIRRZEHETERAREIEELI | RII(EB) 42 32 10
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INET 5 4
112 BRIRERBLIU BLEI(ERE) 54 51 3
112 EFIREZRBELN FEEII(HRE) 58 50 8
112 Wi L2 2 MR E TR BLEI(ERE) 59 53 6
112 THETRESEABRLTIH FEEII(HRE) 35 22 13
112 BRI EAERERET BRI ARSI | Rt EREN 1 1 0
112 THETRESERBTEREN MR ERENT 26 22 4
112 BREEETRERELEUDBE [ b 3 3 0
112 FEREMRIN B R AIRE il 32 25 7
112 BRI ERREY B EERREEm — 77 17 10




